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Part 1. This part is multiple choice. Place a check mark next to the
g/ 1PN - ~ A
answer that you choose. 2 poats per pro bles,no /pc_ e
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a) For the node shown below, iy =5 [Al i;=-3[Al andiz=1[A] The (red &,
current iy is '
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b) For the circuit shown the voltage v,p is
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c¢) If the 700(2] resistor of problem b) is removed so that the terminals A-B
become an open circuit, the voltage v,p will be
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d! If the terminals A-B of the circuitl given in bj are shorted togeiher, the
current flow 1,p Will be
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e} V,. Vg, and v are node voltages in the circuit below. The node equation
expressing Kirchoff's current law at node B is
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2. Assume than an electric stove has the equivalent circuit shown below.
Each of the 4[Q] resistors represents a heating element on the stove. Each
heating element has a switch that can be used to turn it on or off. These are
shown as SW1,SW2,SW3, and SW4. Assume that the stove is being used to
boil w2ter which is currently at 25°C. If 3 of the switches are in the on
position, how much energy is delivered to the water in 15 minutes? Assume
that all of the energy in the heating elements is transferred to the water.
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5. A d’Arsonval meter has the following rated values: v4, = 100[mV],
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b) The d'Arsonval meter is to be used for an ammeter to measure a
maximum current of SIA]. Draw the schematic for the ammeter circuit. and
calculate the circuit parameltgr values, including the ammeter total
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¢) The same d'Arsonval meter is to be used in a voltmeter to measure a
maximum voltage of 300{V]. Draw the schematic for the voltmeter Circuit,
and calculate the circuit parameter values, including the voltmeter total
equivalent resistance.
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5. For the circuit given, determine:

b) The value of vwheni= 10[A]
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4. The current i, in the circuil given is 2[A].
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¢) Calculate the power absorbed in each element in the network.
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0. For the [cllowing circuit;

Ri=5[r] Ry=15[0] (@) Rs=201]
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a) How many nodes and essential nodes are there?
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b) Apply the node voltage method. and determine the value of V-
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